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101|R#A7 L 884 260 624 Kg |EE 1,620 140| £ 1,728 432
102|357 L 1,589 1589 Kg BIE 1,566 532
111|&EEF £ 149 1 148 Kg |EE 162 BRE - &4 2,106 432
113|RAV S 83 2 81| Kg |EE 1,404 I35 2,700 864
114|B5EFE 121 121| Kg BRE - &E 2,700 540
15[ 1= 3 1 2| Keg |EE 1,080 K 4,320 3,780
117[1E 755 118 637| Kg |EE 2,484 108| £ 3,780 648
121|rblE &€ 49 43 6| Keg |EE 918 162| £ 1,080
134[#= = 433 151 282| Kg |EE 2,000 1,200|F )1l 2,376 1,296
140(5 I 19 19| Kg b 39,600 24,300
147|E2 O 89 89| Kg |EE 4,325 BRE - 48 8,000 4,000
168|BIEH AL H 209 209| Kg BERE 2,160 1,620
201|{Lb L 572 572| Kg =3 756 281
203|/hé L 103 103| Kg EfE 378 234
205|585 L 32 32| Kg B 540
206| = 1F 235 235 Kg T 518 346
208| Mo % 250 250| Kg ML 1,296 216
210{1F AL 232 232 Kg [iO 3,780 1,080
212|&5E.3 Y 201 201 Kg K5 1,998 1,242
251|< %<3 95 95 Kg |BE 1,836
254|EhRECH 730 45 685 Kg |=%0 1,307 389|@ % 1,998 972
303|1A 220 3 3| Ke FfE 864
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305[£Aah 0 5 5| Kg &I 4,320

315|7:b5 6 147 120 27| Kg |=2# 891 810 | = iy 3,456 3,024
3191 h o 181 181 Kg FE 2,052 1,080
3321 WA =EF 174 174 Kg i 2,376 2,052
3BlHHY 43 8 35| Kg [%E 3,888 2,700\ 5 16,200 3,240
3541 <Y 51 20 31| Kg |FFE 1,620 1404|F% 1,836 1,242
3/5|HEY 205 15 190 Kg |= 1,296 972| A - RE 1,728 540
356|L L& 15 15| Kg SR 1,080 972
3577~ E 67 8 59 Kg [%&E 540 FEE 1,148 389
358| KE 10 10| Kg A0 1,728

362(m & 9 9] Kg FE 1,620 1,296
401|H W 51 5 46| Kg |EH 1,836 Iz B2 2,160 1,944
4025 E 55 55| Kg FAN 5,562 3,780
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507|@— L Ly 10 10| Kg =] 810
5124 A L 110 110[ Kg b 1,450 1,300
523|AEAAT 2 O 885 885| Kg Bh 2,376 473
54| AEE E XV 110 110| Kg =] 1,890 1,620
554\ XX BIA AR 220 220| Kg b 1,050 820
558|# 85 85| Kg b 1,296 950
560|472 269 269| Kg Bh 2,500 648
5764 X 1F 225 225| Kg b 1,000 980
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70110 BA 7,650 5,988 1,662 Kg [EE 2,480 943 | R 5% 1,804 1,004
709|Lb LALF 45 451 Kg A 684
710(2 2 AT 16 16 Kg BRS 1,728 1,260
BlEFAI L 10 10| Kg SR 1,998
755|FH&» C 31 31 Kg RIG 1,481 710
T56(FNET 13 13 Kg Ko 1,105
76l|b Y AEE 12 12 Kg FJE 2,314 2,160
B01[IBAL = 1S 156 156 Kg tmE - mA 2,484 1,188
802|1 x| 50 501 Kg mE 1,242
8041 % 9 16 16 Kg blo ] 1,080
805 = 1E 1,073 1,073 Kg bF 1,058 689
810|BAKTF 24 241  Kg & 4,165 2,376
815|—¥9 A ZE 10 10 Kg gl 1,194
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